Werkehead Solving Two-Step Equations
W@[F[kggo@@) Multiplication & Division - Negative Coefficients

Name: Date:
[@3 Solve the equations
X _ (2) -11 +4x=-31 X o _
(1) 57373 (3) g - 471
(4) 67 +8X=29 (5) 2X-17=9 o4 2 = -
(6) "6
(7) 9X- 53 =-143 X S _ X _
8) 2 =4 (9) 1+ =74
(10) 32 - 8X = -16 X _ . (12) 6X-25=11
ay 2% -3 =73
X _ - X . (15) 3X- 11 =22
(13) 13_2_5 (14) 7+2_3
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Solving Two-Step Equations
W@[F[kggo@@) Multiplication & Division - Negative Coefficients
ANSWER KEY
[@3 Solve the equations.

X 4 (2) 11 + 4x =31 X
(1) 57373 Uy = 20 (3) g 471
X = - X _

x =40 X = 40
(4) -67 +8X =29 (5) 2X-17=9 e X
8x = 96 2x = 26 (6) "6

:2 = 3 _X_=_
x =1 x =1 = 4
x =24
(7) 9X- 53 =-143 X X _
9x = -90 8y 2~ 1=4 (9y 1+ =74
= - X _ X o _ .
x=-/0 > =11 = 5
X =22 x=10
(100 32 - 8Xx =-16 2+A__3 (12) -6X - 25 =11
Ry = - 11) -3 Yy =
Bx = 48 ( 6x = 36
= X _ . = -
X =6 = 5 X =6
x =15
X 5 _ . X . (15) 3X - 11 =22
13 13 27 7° g 7 F2=73 3x = 33
X X__ =
3 -3 777 K=
X = -39 x = -35
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